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(1) BEREY—ERRR (1 BF) (B4 - A)

B (= 4 5 6 7 8 9 10 11 12 1 2 3 |3
B i #l #  H24| 20.7| 21.3| 21.4| 225| 250 27.7| 274| 27.7| 23.1| 205| 21.9| 21.9| 21.1
(#% g 3l # ) | H23 | 27.8| 28.7) 29.0| 32.4| 30.2| 30.1| 29.8| 28.6| 31.1| 28.8| 30.7| 285| 294
B l'Z #l # | H24 | 145] 158| 140 128 125] 136| 150/ 15.7| 15.1] 157| 16.0| 14.4| 148
(£ FH &) |H23 | 11.1] 120] 127 13.8] 120| 129| 125| 127| 13.7| 13.8| 153| 158| 13.1

5 318 T % IE H24 | 48.6| 42.8| 46.8 43.1| 37.1| 46.2| 428| 39.3| 525| 39.7| 40.6| 44.0| 46.0
? Bt H23 | 544 51.2| 497 542 47.2| 56.7| 555| 47.6| 55.6| 46.1| 49.9| 49.0| 50.9
5 ®%BITX®E| H24 | 82.7/100.5/100.0/100.0/ 99.4| 98.0| 96.6| 95.6| 94.2| 93.0) 925| 63.2| 94.6
(& B & H23 | 70.3| 90.0/ 90.0| 88.3| 88.0| 87.0| 87.0] 89.9| 86.2| 85.0| 936, 73.3| 84.7
& 5 H.24 |166.5/180.4|182.2|178.4|174.0|185.5/181.8/178.3/184.9/168.9|171.0/143.5|176.5
" | H23|163.6/181.9/181.4/188.6/177.4/186.7/184.8/178.8/186.6/ 173.7/189.5/ 166.6| 178.1

(2) MERARSEY—ERRNR (1 B¥)

4 5 6 7 8 9 10 11 12 1 2 3 ['*F 1
1563.31162.11161.5|/159.4|158.6|164.5|155.2|150.3|151.5|142.7|144.5/121.0{159.0
(38.8)[(41.0)|(39.9)(40.1)|(40.0)|(38.2) (36.9)|(37.0) | (35.1)(37.2)|(37.4) | (32.3) | (39.9)
202.6|215.1]203.8/202.3|209.0/202.6|199.4|187.6/191.3|183.5/180.4|165.4(195.3
(66.4)|(67.9)|(68.3)|(67.2)(68.9)|(68.5)|(70.6)|(61.4)(54.2)|(52.9)|(51.7)|(47.8)|(62.2)
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4 5 6 7 8 9 10 11 12 1 2 3 5
- 124 | 160 | 176 | 1566 | 124 | 13.1 | 13.1 | 186 | 12.7 | 122 | 13.8 | 120 | 154
B8 = Al & H24 e e T(8.7) [(104)] 84) | (6.0) | (5.6) | 49) | 9.7) | 6.7 | B.1)| 60) | B.1) | (86)

x () 3. BBEIROAFEAL TWEIEDETH 3,

(4) FIFEHET (1 BFY)

4 5 6 7 8 9 10 11 12 1 2 3 15
TEY —E X | H24 |224.7|240.9|239.2|237.6|228.0|245.7|233.9|231.2|242.1|229.6|226.2|193.5|235.1
B T ¥ | H24 6.6 87| 104 8.4 6.0 5.6 49 9.7 6.7 5.1 6.0 5.1 8.6
Fl A &K ST | H24 |231.2|249.6|249.6|246.0|234.0/251.3/238.8/240.9|248.7|234.7|232.2|198.6|243.7

% [XEY—EX] @ [BEEHY—E2] OFEERY [BEUNEUT— ot g—&FBAL. »OMEAR
FEH—EX0BEFBLTVEE] DA TH B,

2 falzABRRBEDOIR (1 8¥13)

X p) 4 5 6 U 8 9 10 11 12 1 2 3 |[‘F#
H24 | 50.1| 46.3| 41.9| 39.4| 41.2| 349| 41.1| 454| 47.7| 422 47.3| 38.1| 46.1
H23 | 794 79.7] 738 68.2| 754| 66.6| 70.0] 74.9| 77.6| 674| 609 48.0| 70.2
1% H24 | 49.1| 452 419 38.6| 406, 34.8| 40.7| 45.0| 47.7| 41.4| 47.3| 38.0| 454
H23 | 794 792 73.8 682 754| 665 70.0) 74.6| 77.6| 67.4| 60.3| 47.8| 70.0
H.24 1.0 1.2/ 00} 07| 05| 07, 04, 04| 00| 07, 004 02| 07
H.23 0.0/ 05] 0.0 00] 0.0 01 0.0/ 03] 00 0.0] 07, 20| 0.1
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X G 4 5 6 7 8 9 10 11 12 1 2 3 £ 5
@ H.24 |144.1137.6|137.71152.4|134.9|138.2|(140.3/143.9|142.8|144.6|/139.3|152.4|139.7
" H.23 [195.0|147.2/185.3/146.6|136.9|147.0/145.9(143.8/149.7|142.4|136.9|148.6|152.1
. L | H241133.8|125.9|125.5|140.0{125.5/126.3/129.4|133.6/131.8|134.5|/128.3|142.5|128.3
H.23 [182.4|134.2/174.4|134.3|126.7|146.3|/1345|133.4|136.4|131.1|125.4|/136.5(141.4
| o H24 | 104| 11.7| 122 124 94| 11.9| 109 10.3| 10.8] 10.1| 10.9 99| 115
H23 | 126 13.0| 1145 12.3] 102 07| 11.4| 10.3| 133 11.3] 11.5| 12.0| 10.8
4 REHEORKR (EAH)
X @ 4 5 6 7 8 9 10 11 12 1 2 3 £ 15
& = E3f| 203| 284| 259| 285 309| 317| 143| 143 50 0] 85| 110(182.3
| E A 1 1 0 16 0 13 0 2 1 0 1 0 29
% = EA 4 8 24| 136 48| 126 26 0 11 0 7 7| 33.1
& A 0 0 4 3 0 2 0 2 0 0 1 0 1.0
= At = KN 111 63| 226 18 15 56 69| 204 25 48 31 33| 74.9
&k 0 0 7 15 0 9 0 2 3 0 0 8 3.7
B - Sl 0 2 0 4 2 12 2 0 0 30 0 0 4.3
& A 0 0 0 3 5 0 0 1 0 0 0 0 0.8
z o 1‘& E A 61 12 19| 105 10 28 91 11 14 8 3 7|1 30.8
U 4 9 1 4 0 3 0 1 6 2 2 0 2.7
SEEEXE A 2 3 0 49 3 6 17 1 5 1 5 4 8.0
(BB #8) TN 1 0 0 2 0 0 0 0 6 0 2 2 1.1
TR 24 FE W 379| 369| 528, 548| 384| 539| 331, 358 100 86| 126/ 1573254
A =t 75_’% 5 10 12 41 5 27 0 8 10 2 4 8/ 11.0
- : Sl 384| 379| 540| 589 389| 566/ 331| 366/, 110 88| 130| 165|336.4
FER23FEESET 167| 190| 325| 241, 600| 642 363| 291| 142 179| 509, 143|316.0
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